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Part 1 Multiple-choice questions (60% in total: 3% per guestion)

(1) Sophia is planning activities for a hot summer day. She would like to go to the local swimming
pool and see a movie, but because she can only get tickets to the movie for the same time that the
pool is open she can only choose one activity. This iHustrates the basic principle that
(a). people respond to incentives.

(b). rational people think at the margin.
(c). peopic face tradeoffs.
(d). improvements in efficiency sometimes come at the expense of equality.

{(2) Refer to Figure on the right-hand side. The 2 :, o
opportunity cost of this economy moving from point ::: "—m‘“‘\\
A to point C is 150 !
(). 75 baseballs. - ; N
(b). 125 bascballs. > ANG
(c). 125 baseballs and 240 bananas. :‘: R i \\ : |
(d). 240 bananas. B ‘ " ]

t t >
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(3) If the price elasticity of demand for coffee is estimated to be 0.23 in the short run, which is the
maost likely value of the long-run elasticity?
(a). 6.10
(b). 0.25
(c). 0.40
(d). oo

(4) I Francis experiences a decrease in his income, then we would expect Francis’s demand for
(a). each good he purchases to remain unchanged.
(b). normal goods to decrease.
(c). iuxury goods to increase.
(d). infertor goods to decrease.

(5) Suppose you like to make pies filled with banana and apple. You notice that the price of bananas
has increased. How would this price increase affect your demand for apple?
(a). It would decrease.
(b). It would increase.
(c). It would be unaffected.
(d). There is insufficient information given to answer the question.

(6) Which of the following statements is correct?

(a). Monopoly faces a downward-sloping demand curve due to its market power but
monopolistic competitive firms face horizontal demand curve due to a large number of
firms in the market.  — ‘

(b). Both monopoly and monopolistic competitive firms maximize profits by producing at
marginal revenue = marginal cost.

(¢). Inthe long run, both monopoly and monopolistic competitive firms can make positive
economic profits.

(d). Monopoly produces a good without close substitute while monopolistic competitive firms
produce identical goods.
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Given the figure on the right-hand side which ATC

/ AVC

illustrates a perfect competitive firm, answer

the following questions (7) and (8)

(7) Refer to right-hand side figure. When market
price is P7, a profit-maximizing firm'’s short-run
profits can be represented by the area
(a). P7 x Q5
(b). P7 x Q3 P
{c). (P7-P3) x Q3
(d). We are unable to determine the firm’s
profits because the quantity that the firm would

produce is not labeled on the graph @ 0z @  os a8 Quanity

(8) Refer to right-hand side figure. In the short run, if the market price is higher than Pl but less than
P3, individual firms in a competitive industry will make
(a). positive profits.
(b). zero profits.
(c). losses but will remain in business.
(d). losses and will shut down.

(9} The law of demand states that, other things equal,
(a). when the price of a good falls, the demand for the good rises.
(b). when the price of a good rises, the quantity demanded of the good rises.
(c). when the price of a good rises, the demand for the good falls.
{d). when the price of a good falls, the quantity demanded of the good rises.

(10)In the equation Y = C + I+ G + NX|
(a). Y represents the economy’s total expenditure.
(b). C represents household expenditures on services and durable goods.
(c). all of the variables arc always positive numbers.
(d). All of the above are correct.

(11)Net exports equal
(a). exports plus imports.
(b). exports minus imports.
(c). imports minus exports.
(d). GDP minus imports.
(12) When the consumer price index rises, the typical family
(a). has to spend more dollars to maintain the same standard of living.
(b). can spend fewer dollars to maintain the same standard of living,

(c). finds that its standard of living is not affected.
(d). can offset the effects of rising prices by saving more.

(13)Productivity is defined as
(a). the amount of difficulty that is involved in producing a given quantity of goods and services.

(b). the quantity of labor that is required to produce one unit of goods and services.
{c). the quantity of goods and services produced from each unit of labor input.

(d). the quantity of goods and services produced over a given amount of time.
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(14)Human capital is the
{a). knowledge and skills that workers acquire through education, training, and experience.
(b). stock of equipment and structures that is used to produce goods and services.
(c). total number of hours worked in an economy.
(d). same thing as technological knowledge.

(15) The bond market
(a). 1s a financial market, whereas the stock market is a financial intermediary.
{b). 1s a financial intermediary, whereas the stock market is a financial market.
(c). is a financial market, as is the stock market.
(d). 1s a financial intermediary, as 1s the stock market.

(16) The unemployment rate is computed as the number of unemployed
(7). divided by the labor force, all times 100.
(b). divided by the number of employed, all times 100.
{c). divided by the adult population, all times 100.
{d). times the labor-force participation rate, all times 100.

{17y Which of the following is a function of money?
{a). a unit of account
(b). a store of value
{c). medium of exchange
(d). All of the above are correct.

(18) The right-hand side table (Table 1) shows the information of The First Bank of Johnson City.
The reserve ratio for this bank is Assats Liabilities

(a). 0 percent.

b). 20 Reserves Deposits
0, 30 weroont Table | | $2,000 §10.000
(¢). 80 percent. )
(d). 100 percent. oans

8,000

(I9)Refer to Tablc 1 above, Assuming The First Bank of Johnson City and all other banks have the
same reserve ratio, then what is the value of the money multiplier?
(a). 1
(b). 3
{c). 10
(d). 20

(20)If P denotes the price of goods and services measured in terms of money, then
{(a). 1/P represents the value of money measured in terms of goods and services.
(b). P can be regarded as the “overall price level.”
{c). an increase in the value of money is assoctated with a decrease in P.
(d). All of the above are correct.




B 2 % ¥ A 2 #8 £ & ¥ R &8 g Yaas
B4 % 5 E (100 o 8 on |[HERELSH
P D A P T S o ]
#t EESGL Y
& W R |THRAT LA -

Part2 % 3#E)fEFE (20 % in total: 4% per question)
(1) R#ERHE

2) E¥ R

(3) B & ALA

(4) B & Z £31 GDP

(5) BN WA

Part 3 f§ & &4 (20 % in total)
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(Changes to market equilibrium of good X) (Effect on Demand/Supply)
() B Y SR AL LA

(Price of substitute good Y rises)
(b) Bk sk Z 9184 LFF

{Price of complement good Z rises)
()& &% X 64 4 BB/ R A I |
| (Price of input of good X rises) |
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